
Física 1 2022 Biociencias – Geociencias

Resultados Práctico 4

4.1) a) vmax = 13 m
s

b) β = arctan v2

gR

4.2) NA = 21,7N

4.3) ac = 54 m
s2

4.4) f = 0,32Hz

4.5) a) v = 2,1 m
s

b) θ = 54°
c) vmax = 4,7 m

s

4.6) h = 35,87× 103 km

4.7) ρm = 2,61× 103 kg
m3

4.8) r = 2π 3

√
GMestrellaT

2
planeta

4.9) a) T = 92,4min

b) gISS = 8,7 m
s2

4.10) 18 semanas

4.11) M = 3,4× 1029 kg

4.12) a) I = MR2 + 1
2mr2

b) τW = 0

c) τT > 0, α > 0 y a < 0

d) −rα = a

e) Mtotala = (2M +m)a
= T − (2M +m)g =

∑
F

f ) Iα = rT =
∑

τ

g) a = −g 2M+m

2M+M(R
r )

2
+ 3m

2

h) a = −2,72 m
s2

i) T = 35,4N

j) ∆t = 0,857 s

4.13) T = 88,4min

4.14) a) TH = 6,21× 103 N

b) (d)

4.15) a) I = 0,121 kgm2

b) Son verdaderas (a), (c), (e), (g) y (h).
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